RA\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL-16216.1-.3.dwg, FL-16216.1

™

wR
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series
Vinyl Sliding Patio Door
"IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida
Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind Zone 4
as defined in ASTM E 1996 and Section 1609.1.2.4 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevation, design pressures & general notes

Horizontal and vertical cross sections

Horizontal and vertical cross sections

Buck & frame anchoring (MAX. D.P. = 50 PSF)

Buck & frame anchoring (MAX. D.P. = 55 PSF)

Glazing detail & components

N|ovjOn| AWM

Bill of matericils

48.63" MAX. PANEL

WIDTH

41.63" MAX. D.L.O.

’“ WIDTH

96.0" MAX. OVERALL FRAME WIDTH

96.0" MAX. OVERALL FRAME HEIGHT

91.63" MAX. PANEL HEIGHT
85.25" MAX. D.L.O. HEIGHT

Vi

YA

L Water Bar Required

94.5" x 94.5"

47.16" X 90.22"

40.5" X 84.1"

G1

+50.0

-50.0

96.0" x 96.0"

48.63" X 91.63"

41.63" X 85.25"

G2

+50.0

-55.0

n
a b o
8 §n %
Lz)"'l EE * o
“o58° 8
we- o\ Z
'Eom-?!z\-.
<_L_}U.’lc )
’_ng: 0
250 w2 o,
2>9 85(\ &
Z0m 0T R}
;\Ol’} Lo £
OonN - 0 ¢ c
m xoﬂ—g u
3285 °R,"
t8%2 95\
O.—QOD c
P Rasae o
w 9 e
3 gﬁe k)
C c ¥
[} o e
Py o
3
Q
[+]
o
%)
]
==~
()
~ mZ
=5 S
<
SO .
oo | B2
Qo | ER
= £
[Ty
7laN %g%
Ll
o 0
o= o w
g 1< <X
195 | 83
S «©n |ol L&
3 =L
S e
& < o
o o
rd
-
)
=
s o
N2
o @
w| |
3
&
o
aQ
<
)
L
e
NE
<
~lo
Z
oate: 2/21/13
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LES
DRAWING NO.:
FL-16216.1

SHEET _1 oF _7

© 2013 R.W. BuiLDING CONSULTANTS INC.



‘AN BANYLIMENDOD SNIOTINE CM'H ELOZ @

BOFSF ‘ON “T'd “WPIUYSS “d UOPUA SNOISIATY

» My I~
cles .omﬂo:ﬁtouﬁﬁi Lo s WOLYIA # TVINOZIHOH ST 3715 3nved ooVl ei/eo/v] LI Cluil(B) @ |
suesLBu |DUO{ESejOLJ O PJDOg DPLO|J ATANISSY 0 Ldvd - _M . w 5
LELE'6S9°CLR FON Wuoyd ﬁ g 2_
S6GEC 14 03WIOA OEZ %o O°d \h\wmm. S¥00Q OlYd ONIGNS ~ (8] gle
*ONI "SINVLINSNOD SNITHING TANIA S3143S 0088 i w G2 T B
:Ag peupdesy sjuswnoog +12N008d & m 5 w &
['dAL) "gwW3
NIW LB/ L
{"dAl) "gwa
NW ./ E-1 m M
N @ ...r-.lu. ) _<a M =
ST Olus
N =
e U8
_ | @
. L=
¥ S m@
]
Qe
o2 8
—&E
<=
U|2e
B S5
e
wop
e
mw
[+
Q
B I~
@ :
. @)y
= e ~) (RIS
)
=
= LLi

m HORIZONTAL CROSS SECTION

W Shown w/ 1X Buck

X7V XX TR

g s

INTERIOR

EXTERIOR

i

71"\ HORIZONTAL CROSS SECTION

\y Shown w/ 2X Buck

‘@g D
@

1N
2/

1-3/16" MIN.
EMB. (TYP.}

e

T
OING

1-1/4" MIN.
EMB. (TYP.}

‘bb .
.A N
.
e
- .
IR
N
oo
. .
.
Y
L=
h
[Y
4
Y

T BmMpE-T9TZIT-14\sBuimesq Damy ‘O\GOLT Jd\ODBT - T0LT foid\ssepjog pafoidisidalold - vy



R:\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL-16216.1-.3.dwg, 1.3

1-1/4" MiN.
EMB. [TYP.)

1-3/14" MIN.
EMB. {TYP.)

A~ ) @0
@

o | L

v s
L -4
PR

7 i rgm-s r—
o = Ij
. & HIL
) O b [oYe=s
<y | )
. , 4
# ) 3]
-

©®® @)

m HORIZONTAL CROSS SECTION

w Shown w/ 2X Buck [optional strap)

st e g
i3 TR
LRI
TEREL W
HEQ 251«
334 g}{ -
45) |5 g5z 4
E5%ses Vu
§502238, =&
& m§. as g
26) s g 5
ol of~cd ] (H P 8
| 2 3
| i]] 30 1
3 0 g
; 2| B
NOTE: MAX. DP = £ 50 PSF when >a | g
using the opfional strap anchor. 1} V e b f‘ch*
5 5% 13 20
28 o2 |4l 88
B 1-1/4" MIN. G1)G2 & %% » g"
EMB. {TYP.} 2 ol ¥
[»]
® .
INTERIOR (© yavd g
‘ EXTERIOR @) INTERIOR
3
=
= I
U ) 55 3 Bl
1817 ﬂ 4 o o [F
IN ] 0 = 3
22 = % o i
14) & S
20 & &) II:D 15 Sf‘ % :
| N
s I
4 a =z
EXTERIOR | |oae 2/21/13
scAE:  N.T.S.
/ 2"\ HORIZONTAL CROSS SECTION wo. o JK
\_3_/ Shown w/ 1X Buck {w/ opfienal sfrap) 7“3\ VERTICAL CROSS SECTION o o LFS
3 / Shownw/ 2X Buck ot head & DRAWING NO.:
Direct to Masonry @ sill {w/ optional strap) F1—-16216.1
SHEET _J_OF _7_

© 2013 R.W. BUILDING CONSULTANTS ING.



RMA - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL-16216,1-.3.dwg, 1.4

% " (1YP)
7" (TYP)

L L B ] 1 |
i
I -}
I =
I 4 &
¥ 'y
[TYP.) |
1
I 7
BUCK | :\ MEETING STILE
P SHOWN FOR
‘| REEONY
MASONRY |
OPENING 1 -
RY ! 1| £
I S
|
I At
EEAN }
BUCK ANCHORING
MASONRY
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge

distance and center distance requirements.
2. Concrete anchor locations at the cormers may be adjusted to maintain the min. edge
distance to mortar joinfs. Concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted fo maintain the min. edge distance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceedead.
3. Concrete anchor tabie;

e 4" (TYP.)

18" MAX. O.C.
(TYP.}

14" MAX. O.C.
(TYP.)

2X BUCK

FRAME ~/I

MASONRY

OPENING ;

Kl

1

5.25" (TYP.) ﬁ
T T_]

STRAP

SILL (TYP.)

STRAP

(a5)w/ ANCHOR ||
HEAD & JAMB(TYP.} || HEAD {TYP.}

w/ ANCHOR

|

F | JAMBTYP) |

’ ’\ MEETING STILE |

SHOWNFOR  ff el

REF. ONLY

525 (TYP)—m] 1= f

12" MAX. O.C. [TYP.)

J

A" L
& ] I ]
L e
PR

FRAME ANCHORING

2X Buck

NOTE: MAX. D.P. = 50 PSF

1-1/4"

ELCO

‘I".I/ [

14'MAX.OC. |
(TYp.) -
5.25" (TYP.) l-'—
[ ] ' !
fffff | T
,,,,,, .n—-- E
w/ ANCHOR H EE
1X BUCK STRAP 8 g
~ HEAD & JAMB(TYP.) f HEAD (TYP) X O
>
<
i F @)/ Z
j JAMBTTYP) &
FRAME Bl st (v, | | Y
MASONRY " \ 7 )
OPENING W/ ANCHOR
STRAP
1 MEETING STILE
SHOWN FOR
1 ] REF. ONLY
] 1 l L
FRAME ANCHORING
1X Buck
14" MAX. O.C. ~
TYP.
(TYP) 525" (TYP.)»i ——
T 1 1 'T
Il =<
w/ ANCHORH EE
1X BUCK STRAP 28
~ HEAD & JAMB(TYP.) H HEAD {TYP.) § 1
>
<
- | 1 =
JE: JAMB TIYP.) &
FRAME L iy qrve.y H | —
MASONRY B " L
OPENING Seap MEETING STILE
H SHOWNFOR
REF. ONLY
. “ [ | |
FRAME ANCHORING

Direct to Masonry

813.659.9197

Z’? S:A ?:S«vf_}

P.0. Box 230 Volrico Fl. 33595
Lyndon F. Schmidt, P.E. No. 43409

BUILDING CONSULTANTS, INC.

Phone No.:
Florida Board of Professional Engineers
Certificate Of Authorizotion No. 9813

Ry

Documents Prepared By:

8800 SERIES VINYL
SLIDING PATIO DOORS

BUCK & FRAME ANCHORING

PART GR ASSEMBLY:

PRODUCT:

= 50 PSF)

(MAX. D.P.

LFS
Zhd

4/03/13 1ADD FRAME SIZE

REVISIONS

NO| DATE

i

DATE: 2/21/13

sCALE:  N.T.S.

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
FL—-16216.1

SHEET 4 of 7

© 2013 R.W. BUILDING CONBULTANTS ING,



RAMA - Projects\Project Folders\Proj 701 - 1800\PF 1709\D. RWBC Drawings\FL-16216.1-.3.dwg, 1.5

s ke

ZXBUCK
_\

MASONRY

OPENING ;

|

P .y

|
I 9
I ;
I b
P i &
¥ 4
I
! \MEETING STILE
y SHOWN FOR
| RERONY |
I
I —~
I 4l €
I =
I %
X
I 1
Ll
N }
BUCK ANCHORING
MASONRY

CONCRETE ANCHOR NOTES:

e 4" (TYP))

(TYP.)

SASH SASH
3 (TYP) 3" (TYP 3 {TYP.)
6" TYP) ‘_‘ I:i - 6" (TYP.) 7" {TYP.) —:—j T:
T T T T T n ) T 7777777 t 1 ’ t[ | | 1
~ ] e |
% BUCK J - HD (TYP) ; 1X BUCK -— X BUCK
|| DIRECTTO H XBUCK(E)
MASONRY
FRAME - H (*4) - FRAME —/ HEAD (TYP. ! i DIRECT 7O
I JAMB (TYP.) ] - | MASONRYD)
JAMB {TYP.)
MASONRY SILL (TYP.) 1N MASONRY SILL {TYP.) | |

OPENING - MEETING STLE = L orennG MEETING STILE

| l SHOWN FOR = | | SHOWN FOR

REF. ONLY = REF. ONLY
|E 8]
—II | IIHII 1 - 9 |r”||m 1 |_
RN N N o
FRAME ANCHORING FRAME ANCHORING
2X Buck 1X Buck, Direct to Masonry

NOTE: MAX. D.P. = 55 PSF

1. Substitution of equal concrete anchors from a different supplier may have different edge

distance and center distance requirements.

2. Concrefe anchor locafions at the corners may be adjusted to mainfain the min. edge
distance fo moriar joinfs. Concrete anchor focations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W

1-1/4"

2./

ELCO

-/

1"

4" (TYP)

r— j TYP.)

21"O.C. (TYP.)

T r3

o. 9813

P.O. Box 230 Voirico FL. 33595
B13.659.9137

BUILDING CONSULTANTS, INC.

Phone No.:
Florida Board of Professicnal Engineers

Certificote Of futhorizotion fd

Ry

Documents Prepared By:

Lyndon F. Schmidt, P.E. No. 43409

8800 SERIES VINYL

SLIDING PATIO DOORS
BUCK & FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

(MAX. D.P. = 55 PSF)

REVISIONS

NOJ DATE

pate: 4/02/13

SCALE:  N.T.5.

DwWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
FL—-16216.1

SHEET _ S oF _7

© 20713 R.W. BUILDING CONSULTANTS INC.



0.97"

5.44"

5 |
g
0
of

L]
=

|
—— 271" —J

( : ) FRAME HEAD

3.25"

4—-‘ INER

offjo o o

—I -—0.5"

—

26" —= |—~

=_A

0.38 j

T

0

q . ANCHOR STRAP

0.05" »“—-J o8

05
GLASS BITE

KA VA ———1
=D —=) )

0.08"

( ': )ST".E. RAIL

1.08"

T
=9

REINFORCEMENT
Meeting rai

1.27"

——— 7/8° THICK GLASS

DL—JEjr 2z 5',3{

=

F |

1/8" ANNEALED

=~ 1/8" ANNEALED

:s AR SPACE

1/8" TEMPERED

9

£

(: :) GLAZING DETAIL

5.44" -]
-

(: :) FRAME SILL

A-I 1.08"

236"

1.27"

005" —=

1

(::) REINFORCEMENT
Stile

0.5

GLASS BITE

0.090" SAFLEX® PVB INTERLAYER

201" == i
O3
] 0.09"
)
: =
<)
(8]
=1,
]
=

T
&

. GLAZING BEAD

——— 7/8" THICK GLASS

1/8" ANNEALED

S ~~— 1/8" ANNEALED

(::) GLAIING DETAIL

:s AR SPACE

1/8" TEMPERED

0.090" DUPONT SENTRYGLAS® INTERLAYER

2 ¢ g
] $nﬁq¢
On EpN, ¢
108 13
.dmaﬁ. a
pbh-"g z
5 g% 52 .
< 22 ¢ w
= Ccwn 05 4
G590 5 2 o
25w 85N
-~ 223 +
£ Dwm o 2
s8R a2 3E
[id g, = 5
32328y @
13 55all
350.4: g g g
&ma_u.ms .g
L) §83 >
k=4 (S of
b o g
f
3
Q
17
fa]
q& ]
=0
£S Ny
55 EE
Y
%]e) -
W= > Qs
< =
hfey [¢i] (_DD"
n 5 =3
© |E £0
22 |g N©
.88 193
EIeg ] fo| ©
o T 13
=
e
e}
% Z
o o
7 P
o |
73]
=
Q
Ly
N2
%) o
Ll [0
3
=
Ta)
a)
<
)
%
S
Qi
~
o
zZ
patE: 2/21/13
scAlE: N.T.S.
DWG, BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-16216.1

SHEET 6 oF 7

R\A - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL.-16216.1-.3.dwg, 1.6

© 2013 R.W. BUILDING CONSULTANTS [NC.



RMA - Projects\Project Folders\Proj 1701 - 1800\PF 1709\D. RWBC Drawings\FL-16216.1-3.dwg, 1.7

P.Q. Box 230 Vagirico FL. 33585

Documents Prepared By

BUILDING CONSULTANTS, INC.
Phone No.: B13.659.9197

Florida Beoard of Professional Engineers

Cartificote Of Authorjzation No. 89813
/%-gz ;‘”.?a"

3

Lyndon F. Schrnidt, P.E. No. 43409

27 | SCREW CAP NYLON
28 | GLAZING BEAD* PVC
29 | FOAM PLUG -
30 [ HEAD WEATHERSEAL -

31 | #8 X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL
32 [ SASH STOPPER EPDM
33 | WEATHERSTRIP -
34 | FRAME JAMB* PVC
35 | WEATHERSTRIP -
3% [HANDLEKIT STEEL
40 [ OPERATING PANEL SIDE STILE* PVC
42 | KEEPER FOR SCREEN -
43 | #4X5/8" PAN HEAD QUADREX SCREW STEEL
44 | #10X2-1/2" PPH SCREW STEEL
45 [ #10X1-3/4"PPH SCREW STEEL
46 | STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL
47 | SASH COVERING CAP* PVC
48 [ LOCKPLUG* PVC
50 [ STILE REINFORCEMENT STEEL
S1 [ #8 X 2" TRUSS HEAD QUADREX SCREW STEEL
52 | INTERLOCK ALUM
53 | STILE REINFORCEMENT STEEL
54 | Q-LON WEATHERSTRIP [SCHLEGEL NO. QEZ 345) -
55 | WATER BAR ALUM
56 [ #8X1"PPHSMS N

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A [ IXBUCK SG >= (.55 WwOoOoD
B | 2XBUCKSG>=0.55 WOOD
C | 1/4"MAX, SHIM SPACE -

D |1/4"X2-3/4"ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1 1/4"X1-3/4"ELCO OR ITW CONCRETE SCREW STEEL
G | 1/4'X3-3/4"ELCO OR ITW CONCRETE SCREW STEEL
H | #10X5/8"FH SMS STEEL

1 FRAME HEAD* PYC
2 | #8x2-3/4" FH QUADREX WOOD SCREW STEEL
3 | WEATHERSTRIP (SCHLEGEL #HF-7522-270) -

4 | HEAD TRACK* PVC
S | STILE & RAIL* PVC
6 | SETTIING BLOCK -

7 | SILCONE ({SIKA 552) SILICONE
8 | DURASEAL SPACER SYSTEM -

? | SHM -

10 [ TANDEM WHEEL NYLON
11 | ROLLING RAIL ALUM
12 [ SIL* PVC
13 1 SILL DUST COVER* PVC
14 [ SILLPLUG NYLON
15 | SILL WEATHERSEAL -
17 | LEFT CAP FOR SILL ADAPTER* PVC
18 | RIGHT CAP FOR SILL ADAPTER* PVC
19 | #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL
20 | OUTSIDE SILL CLADDING ALUM
22 [ INSECT STOP -
23 | SCREEN -
24 | #8 X 7/8" PAN HEAD, QUADREX, SCREW STEEL
25 | FIXED PANEL ANCHOR BLOCK* FVC
26 | ANCHOR STRAP STEEL

* THE APPROVED WHITE RIGID PYC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE
PRODUCED BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR
RIGID PYC EXTRUSIONS".

)
tn
=5 | 2
20 =<
=>4 e
IR
o .
IS PR
e
wal |9 w
U)O ol ©
oF |8 4
o5 |« <
E18S o D
L&)
2 |2
S &
a o
2l
wlm
v
z
<
LJ
S
U
W e
3
i
o
a
<
L]
Bl
i
SE
<
o
=z
pate: 2/21/13
scale:  N.T.S.
DWG. BY: JK
CHK, BY: LFS
DRAWING NO.:
FL-16216.1

SHEET 7/ ofF 7

© 2013 R.W. BUILDING CONSULTANTS ING.



